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Question Number : 821 Question Id : 226895681862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following is a voluntary scheme of certification of agricultural products (raw and processed) for
safeguarding the health of consumers?

1. AGMARK
2. FSSAI
3.181

4. CAC

Options :

2268952643598. 1
2268952643599. 2
2268952643600. 3
2268952643601. 4

Question Number : 821 Question Id : 226895681862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. WIS

2. THUHUHLST
3. AETHATE

4, o

Options :

2268952643598. 1
2268952643599. 2
2268952643600. 3
2268952643601. 4

Question Number : 822 Question Id : 226895681863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

You are a trainer for implementation of Good Manufacturing Practices (GMP) in a food manufacturing unit. Which of
the following best describes GMP?

1. Involves identification of hazards, assessment of chances of occurrence of hazards during each step /stage in the
food chain

2. Ensuring that processors take proactive steps to ensure that their products are safe; enabling to minimise or
eliminate contamination and false labelling

3. Promote the development of standardisation and related activities in the world

4. Establishing international standards to protect the health of the consumers and facilitate food and agricultural trade

Options :

2268952643602. 1
2268952643603. 2
2268952643604. 3
2268952643605. 4

Question Number : 822 Question Id : 226895681863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643602. 1
2268952643603. 2
2268952643604 3
2268952643605. 4

Question Number : 823 Question Id : 226895681864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Deriving satisfaction from wark itself, signifies connotation of work as .

1. a livelihood
2.ajob

3. a career

4. a calling

Options :

2268952643606. 1
2268952643607. 2
2268952643608. 3
2268952643609. 4

Question Number : 823 Question Id : 226895681864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. Tdh 3Tellidd
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3. UH RO

4. TP 098G @1 (a Calling)

Options :

2268952643606. 1
2268952643607. 2
2268952643608. 3
2268952643609. 4

Question Number : 824 Question Id : 226895681865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following Article of the Constitution of India guarantees equality of opportunity for all citizens in matters
relating to employment and appointment to any office under the State?

1. Article 16
2. Article 22
3. Article 16
4. Article 20

1)
1)
4)
1)

Options :
2268952643610. 1



2268952643611. 2
2268952643612. 3
2268952643613. 4

Question Number : 824 Question Id : 226895681865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643610. 1
2268952643611.2
2268952643612. 3
2268952643613. 4

Question Number : 825 Question Id : 226895681866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Nutritional assessment of an individual involves obtaining information on which of the following parameters?
(A) Anthropometric measurements

(B) Dietary assessment

(C) Clinical examination

(D) Biochemical laboratory analysis

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952643614 1
2268952643615.2
2268952643616. 3
2268952643617. 4

Question Number : 825 Question Id : 226895681866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. a4 (A), (B) 3R (D)
2. %44 (A), (B) 3R (Q)
3.(A), (B), (Q) 3R (D)

4.%dd (B), (C) IR (D)

Options :

2268952643614 1
2268952643615. 2
2268952643616. 3
2268952643617. 4

Question Number : 826 Question Id : 226895681867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11
Examples Type of processed foods
(&) Pickles, jam, marmalade, squashes (1) Functional foods
(B) Probiotics (Il) Formulated foods

(C) Frozen peas and frozen vegetables, canned fruits and vegetables|(lll) Manufactured foods

(D) Bread, biscuits, ice cream (IV) Preserved foods

Choose the correct answer from the options given below:

1.(A) - (0, (B) - (In), (C) - (1), (D) - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D) - (V)
3. (A) - (), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (1), () - (M), (D) - (1)

Options :

2268952643618. 1
2268952643619. 2
2268952643620. 3
2268952643621. 4

Question Number : 826 Question Id : 226895681867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(1), (B)-(11), (©)-(1), (D)-(1V)

2. (A
3. (A
4. (A

=1, (B)-(), (O)-(1), (D)-(V)
=) (B)-(1), (C)-(1V), (D)-(1h)
=11, (B)-(1), (©)-(1V), (D)-(1)

Options :

2268952643618. 1
2268952643619. 2
2268952643620. 3
2268952643621. 4

Question Number : 827 Question Id : 226895681868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are examples of Complementary Colour Scheme?
(A) Blue & Orange

(B) Red & Green

(C) Green & Yellow

(D) Purple & Yellow

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952643622. 1
2268952643623. 2
2268952643624. 3
2268952643625. 4

Question Number : 827 Question Id : 226895681868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. ad (A), (B) 3R (D)

=) &ﬁm (A), (B) 3R (O)
B), (O) 3R (D)

4, &ﬁm (B), (C) IR (D)

Options :

2268952643622 1
2268952643623. 2
2268952643624. 3
2268952643625. 4

Question Number : 828 Question Id : 226895681869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange stages of the Fashion Cycle in correct sequence:
{A) Decline in Popularity
(B) Peak of Popularity
(C) Introduction of a Style
(D) Obsolescence

Choose the correct answer from the options given below:

Options :

2268952643626. 1
2268952643627. 2
2268952643628. 3
2268952643629. 4

Question Number : 828 Question Id : 226895681869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643626. 1
2268952643627. 2
2268952643628. 3
2268952643629. 4

Question Number : 829 Question Id : 226895681870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

According to the Quality of Work Life (QWL) approach, the employees are considered to be by the
organizations. Fill in the blank with suitable option.

1. Liability
2. Assets
3. Debts
4. Burden

Options :

2268952643630. 1
2268952643631.2
2268952643632. 3
2268952643633. 4

Question Number : 829 Question Id : 226895681870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643630. 1
2268952643631. 2
2268952643632. 3
2268952643633 4

Question Number : 830 Question Id : 226895681871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



What are rules or standards governing the conduct of a person or the members of a profession known as?

1. Values

2. Dignity of Labour
3. Ethics

4. Assumptions

Options :

2268952643634 1
2268952643635. 2
2268952643636. 3
2268952643637. 4

Question Number : 830 Question Id : 226895681871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643634 1
2268952643635. 2
2268952643636. 3
2268952643637. 4

Question Number : 831 Question Id : 226895681872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT a benefit of ergonomics?

1. Increases productivity

2. Diminishes morale of workers

3. Decreases absenteeism

4. Reduces mistakes and need to do the work again

Options :

2268952643638. 1
2268952643639. 2
2268952643640. 3
2268952643641. 4

Question Number : 831 Question Id : 226895681872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643638. 1
2268952643639. 2
2268952643640. 3
2268952643641. 4



Question Number : 832 Question Id : 226895681873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Which of the following fashion designer made use of tents and wagon covers to make cargo pants?

1. Levi Strauss
2. Isaac Singer
3. Louis Vuitton
4. Coco Chanel

Options :

2268952643642. 1
2268952643643. 2
2268952643644. 3
2268952643645. 4

Question Number : 832 Question Id : 226895681873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952643642. 1
2268952643643. 2
2268952643644. 3
2268952643645 4

Question Number : 833 Question Id : 226895681874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is a type of 'weaving defect'?

1. Slub

2. Colour run
3. Chafe

4. Broken end

Options :

2268952643646. 1
2268952643647. 2
2268952643648. 3
2268952643649. 4

Question Number : 833 Question Id : 226895681874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Fofafad § € oF 91 Ue UHR &1 €18 Al 87

1. 9T 3T 8T (Slub)

2. T BT ¥ (Colour run)
3. 3713 (Chafe)

4, @W (Broken end)

Options :
2268952643646. 1
2268952643647 2



2268952643648. 3
2268952643649. 4

Question Number : 834 Question Id : 226895681875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

Type of stain|Chemical used for stain removal

(A) Blood (1) Methylated spirit

(B) Tea/Coffes|(Il) Javelle water

(C) Lipstick  |(lll) Ammonia

(D) Curry (IV) Borax

Choose the correct answer from the options given below:

1.(A) - (). (B) - (), (C) - (1), (D) - (V)
2.(A) - (), (B) - (1), (O) - (), (D) - (V)
3. (A) - (), (B) - (1), (C) - (IV], (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - ()

Options :

2268952643650. 1
2268952643651. 2
2268952643652. 3
2268952643653. 4

Question Number : 834 Question Id : 226895681875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-
2. (A)-
3. (A)-
4. (A)-

1), B)-(1N), (C)-(lh), (B)-(V)
11, (B)-(1), (Q)-(li), (B)-(V)
1), B)-(1N, (O-(1V), (D)-(1)
11, (B)-(1v), (C)-(1). (©)-(1N)

Options :

2268952643650. 1
2268952643651.2
2268952643652. 3
2268952643653. 4

Question Number : 835 Question Id : 226895681876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



You are a catering manager. Arrange the following steps in food service management in the order of implementation.
{A) Reporting

(B) Staffing

(C) Planning

(D) Directing and Delegating

Choose the correct answer from the options given below:

1. (A),
2. (A,
3.(Q),
4.(0),

B), (O). (D)
Q). (B), (D)
B). (D). (A)
D). (B). (A)

Options :

2268952643654. 1
2268952643655.2
2268952643656. 3
2268952643657. 4

Question Number : 835 Question Id : 226895681876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A), (B), (C), (D)
2. (A), (Q). (B), (D)
3.(Q), (B), (D). (A)
4.(Q). (©) (B) (A)

Options :

2268952643654 1
2268952643655. 2
2268952643656. 3
2268952643657. 4

Question Number : 836 Question Id : 226895681877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

You are a textile conservator in a museum. Which among the following methods would you choose to minimize the
damage caused to a textile artifact stored in your museum?

1. Expose the objects to light of high intensity

2. Minimize the intensity of light falling upon the object

3. Expose objects to light for longer period of time

4. Introduce photo-chemically active radiations from the light

Options :

2268952643658. 1
2268952643659. 2
2268952643660. 3
2268952643661. 4



Question Number : 836 Question Id : 226895681877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643658. 1
2268952643659. 2
2268952643660. 3
2268952643661. 4

Question Number : 837 Question Id : 226895681878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The principle of all washing machines is to keep the fabric in movement in the washing solution to carry away the dirt.
Which among the following method is used for washing garments in a front load washing machine?

1. Spinning
2. Agitation
3. Tumbling
4. Pulsation

Options :

2268952643662.
2268952643663.
2268952643664.
2268952643665.

B R S

Question Number : 837 Question Id : 226895681878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. TBU
2. e
3. 3fAUTa (efsam)

4. g

Options :

2268952643662. 1
2268952643663. 2
2268952643664. 3
2268952643665. 4

Question Number : 838 Question Id : 226895681879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Your friend is a fashion designer. He/she is planning to launch his/her own fashion business to meet the demands of
female wage earners in the age group of 25-45 years. According to you, which type of market segmentation has
he/she used to define the target market?

1. Demographic Segmentation
2. Geographic Segmentation
3. Psychographic Segmentation
4. Behavioural Segmentation

Options :

2268952643666. 1
2268952643667. 2
2268952643668. 3
2268952643669. 4

Question Number : 838 Question Id : 226895681879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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3. FHlagAS fayre=
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Options :

2268952643666. 1
2268952643667. 2
2268952643668. 3
2268952643669. 4

Question Number : 839 Question Id : 226895681880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which among the following is a 'Principle of Design'?

1. Texture
2. Colour
3. Form/Shape
4. Balance

Options :

2268952643670. 1
2268952643671.2
2268952643672. 3
2268952643673. 4

Question Number : 839 Question Id : 226895681880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :



2268952643670. 1
2268952643671.2
2268952643672. 3
2268952643673. 4

Question Number : 840 Question Id : 226895681881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which among the following is a natural factor responsible for the deterioration of artifacts in a museum?

1. Bad storage
2. Pests

3. Accidents
4. Fire

Options :

2268952643674. 1
2268952643675. 2
2268952643676. 3
2268952643677. 4

Question Number : 840 Question Id : 226895681881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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2. e
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Options :

2268952643674 1
2268952643675. 2
2268952643676. 3
2268952643677. 4

Question Number : 841 Question Id : 226895681882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Identify the essential features of Development Communication.

{A) It focusses on success stories of people who have adopted new technologies, tried new methods and helped the
society

(B) It is oriented to socio-economic development and happiness of the people and community at large
(C) It aims at giving information and educating the community

(D) It combines suitable mass media and interpersonal communication channels for greater impact
Choose the correct answer from the options given below:

A), (B) and (D) only
A), (B), (C) and (D)

B), (C) and (D) only
A), (C) and (D) only

1.(A), (
2.(A) (
3.
4.(

Options :

2268952643678. 1
2268952643679. 2
2268952643680. 3
2268952643681. 4



Question Number : 841 Question Id : 226895681882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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T B 796G DI &

(B) T8 G- 3N e 3R 98 o W il @ik wqem o @2 & g @ e
(C) 3HDT 35T BRI &1 IR THaH & Riffd a8

(D) TE 31f¥e yHTd & forw Suged 919 Hifsar 3R URER® YOR 3dl &I sl &

e few e famedl & @ e SR o

1. &ad (A), (B) 3R (D)
2.(A), (B), (C) 3R (D)

3. &ad (B), (C) 3R (D)
4.%4d (A), (C) 3R (D)

Options :

2268952643678. 1
2268952643679. 2
2268952643680. 3
2268952643681. 4

Question Number : 842 Question Id : 226895681883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-1I
Hospitality Establishment Services
(A) Hotel (I) Provides parking facility near the room or a room door that opens out onto the parking
ote
lot
(B) Furnished camps (1) Offers lodging, meals and other services to its guests
(©) Motel (Ill) Offers a broad range of amenities, sports facilities and leisure activities for ensuring a
ote
total vacation experience
(D) Resort {IV) Provide hospitality to people who go hiking, undertake adventure sports etc.

Choose the correct answer from the options given below:

1.(A) - (0, (B) - (IV), (C) - (1), (D) - (1)
2.(A)- (1), (B) - (V). (©) - (1), (D) - (1
3.(A) - (), (B) - (V). (©) - (1), (D) - (1)
4. (A)- (), (B) - (), (C) - (), (D) - (V)

Options :

2268952643682 1
2268952643683. 2
2268952643684. 3
2268952643685. 4

Question Number : 842 Question Id : 226895681883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 B -1 D Ty e de

-1 -0

anfareg ufergr= TaTe

A (1) BHL TT HHL & GRall & U UIfehd] &1 Giae Ja™ &l & ol

& T =T TR Gadl &

(6] i R (i) S 3o Hfafrf o Farg, YisH 9yt 3 9a1d UeH &dl el

- (1) T BIET! & YUREU SMHE YT B3 & o1 giasnel, T giawnsi o) samr fafaiiar
© DI T g 4@ UGH Bl gl

(D) R=te (Iv) 3 1T @l 3fawd UeH &l & ol dal dad a6 IR 91d &, 9eigs 9d 3 ®3d el

T fRum firaal d ¥ wd s A

1. (A)-(1), (B)-(IV), (Q)-(1), (D)-(I1N)
2. (A)-(1), (B)-(IV), (©)-(1n), (D)-(N)
3. (A)-(1), (B)-(1V), (C)-(In), (D)-(111)
4. (A)-(10), (B)-(I), (C)-(1), (D)-(1V)

Options :

2268952643682. 1
2268952643683. 2
2268952643684. 3
2268952643685. 4

Question Number : 843 Question Id : 226895681884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the stages of 'Guest Cycle’ in correct order of their occurence:
(A) Departure

(B) Occupancy

(C) Arrival

(D) Pre-arrival

Choose the correct answer from the options given below:

1. (A), (B). (C), (D)
2. (D), (Q). (B). (A)
3.(D), (A), (C), (B)
4.(Q). (B). (D). (A)

Options :

2268952643686. 1
2268952643687. 2
2268952643688. 3
2268952643689. 4

Question Number : 843 Question Id : 226895681884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952643686. 1
2268952643687. 2
2268952643688. 3
2268952643689. 4

Question Number : 844 Question Id : 226895681885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Identify the name given to an institutional setting that is particularly designed for the care of infants and young
children in the absence of home care.

1. Observation Homes
2. Special Homes

3. Children’s Homes
4. Créche

Options :

2268952643690. 1
2268952643691. 2
2268952643692. 3
2268952643693. 4

Question Number : 844 Question Id : 226895681885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

TP URIFTT U] B G T 919 @1 UgdH & ol [d8Y ¥ U 8¢ ¢ & SH1a § el ofk oI 9=l 31 ¢av| &
sk |

1. V&1 8
2. TR =
3. 9l B R
4,949

Options :

2268952643690. 1
2268952643691. 2
2268952643692. 3
2268952643693. 4

Question Number : 845 Question Id : 226895681886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Your mother has purchased gold earring for your sister. Which among the following standardization mark would you
advice your mother to check on the product to ensure a quality purchase?

1. Ecomark
2. FS5Al

3. ISI Mark
4. Hallmark

Options :

2268952643694. 1
2268952643695. 2
2268952643696. 3
2268952643697. 4

Question Number : 845 Question Id : 226895681886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

TR A A TRl 964 & [0 9H @1 gFe] @46l 3| SUIE 31 9id S & 08 9 5 8 S F @60 [9g 31 ST
o ! U Gl GRid B3 B 9 o7

1. SHMED
2. U UHUHUSTS
3. HSUHATS HID
4. BiaHS

Options :

2268952643694. 1
2268952643695. 2
2268952643696. 3
2268952643697. 4

Question Number : 846 Question Id : 226895681887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-Ii

Youth Programme in India Focus/Aim

(I) Aims at involving college level students in programmes of social service and national

(A) Scouts and Guides
development

(B) The National Service (Il) Aimed at making the youth participate in the development processes of their
Scheme respective countries

(C) Commonwealth Youth (Il) Provides opportunities for students to involve themselves, on a whole-time basis for

Programme a short period of one or two years, in programmes of national development
(D) The National Service (IV) Aims at developing the character of boys and girls to make them good citizens by
Volunteer Scheme inculcating in them a spirit of loyalty, patriotism and thoughtfulness for others

Choose the correct answer from the options given below:

1.(A) - V), (B) - (1), (©) - (I, (D) - (1)
2. (A) - (). (B) - (I, (C) - (), (D) - (V)
3. (A) - (). (B) - (In), (C) - (IV), (D) - (1)
4. (A) - (), (B) - (V). (©) - (0, (D) - (1)

Options :

2268952643698. 1
2268952643699. 2
2268952643700. 3



2268952643701. 4

Question Number : 846 Question Id : 226895681887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 BT -1 D Gy Fe He

-1 Geial
YRAA @ FUPH  BIpa/asT
() BT R (1) TS Wl 3R AP faepre & HrishHl H Fellaeierd TR & SH S A 3 51 35
(8) AP AT ASHT (1) FaTAl DI 310 =01 D1 [ Hispansdi § Hriierl &3 & oY #9 uar &1
——— gg;%ﬁ;ﬁﬁ%ﬁﬁﬁ&ﬁﬁﬁﬁ%ﬁﬂﬂ@ﬂﬁﬂ%@ﬂﬁw
(D) IPTY Yo WUHID  ((1V) TTgah AR TSl H FI51, THIE IR GERl & Ui i 81 $1 HIdH1 &I ggidl aa
BIERI] S 9 @l @i #l o

1 fow e faweul § @ wEt Sw 9 -

1. (A)-(IV), (B)-(1), (Q)-(In), (D)-(11)
2. (A)-(1). (B)-(1n, (©-(IN), (D)-(IV)
3. (A)-(0, (B)-(1, (O-(V). (D)-(1I)
4. (A)-(1n, (B)-(V), (Q)-(). (D)-(1N)

Options :

2268952643698. 1
2268952643699. 2
2268952643700. 3
2268952643701. 4

Question Number : 847 Question Id : 226895681888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

You are a student of resource management. Which of the following career options can you take up after completion of
your degree in Human Resource Management?

(A) Recruitment Consulting

(B) Career Counselling

(C) Dietary Counselling

(D) HR Consulting

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (A), (C) and (D) only
3. (A), (B), and (D) only
4.(B), (C) and (D) only

Options :

2268952643702. 1
2268952643703. 2
2268952643704. 3
2268952643705. 4

Question Number : 847 Question Id : 226895681888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



ST T UesH & B ¢ | HHd YU Jae § o0 50 gl &< & a1g oy HEfaRas § 9 oF U B ded
ST U 87

(A) Hell TRl

(B) BER wHE

(C) 3MTER Wl

(D) TSR TR

i e e e el 9 wd S g

1. ad (A), (8) 3R (O
2.Wad (A), (C) 3R (D)
3. %dd (A), (8), 3R (D)
4.%ad (B), (C) 3R (D)

Options :

2268952643702. 1
2268952643703. 2
2268952643704. 3
2268952643705 4

Question Number : 848 Question Id : 226895681889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which among the following is an example of ‘entertainment event'?

1. Celebrity night
2. Graduation day
3. MICE

4. Birthday party

Options :

2268952643706. 1
2268952643707. 2
2268952643708. 3
2268952643709. 4

Question Number : 848 Question Id : 226895681889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafad ¥ 9 @ 91 9o 99RE &1 U Jaisl &7

1. Yfafedt mge
2. WA fGag

3. HEH
4. g3 uref

Options :

2268952643706. 1
2268952643707. 2
2268952643708. 3
2268952643709. 4

Question Number : 849 Question Id : 226895681890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



According to WHO, ‘disability’ is an umbrella term that covers impairments, limitations in activity and restrictions in
participation. If a child faces difficulty in reading, writing and solving arithmetic problems, which of the following
type of disability/impairment is he/she suffering from?

1. Cerebral Palsy

2. Learning disability
3. Hearing impairment
4. Autism

Options :

2268952643710. 1
2268952643711.2
2268952643712 3
2268952643713 4

Question Number : 849 Question Id : 226895681890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

S&Y.U.3. & R, TG UF S et & orgH G, Uit framsany ofR HrileR # ®ie-rs wnid ¢ afe e

= @I Uga, Rraa 3R fenoidg grensi & sd o § S aidl &, of 98 Pufifed ¥ @ 59 ueR &1 ey
gfa T difsa gz

1. TSR (SEd o)
2. ST &

ER LUkl

4, TEHT (feen)

Options :

2268952643710. 1
2268952643711.2
2268952643712. 3
2268952643713. 4

Question Number : 850 Question Id : 226895681891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Children under the age of 18, found guilty in terms of violation of law are referred to as . Fill in the blank with
suitable option.

1. Orphan
2. Peer

3. Scouts
4. Juvenile

Options :

2268952643714. 1
2268952643715. 2
2268952643716. 3
2268952643717. 4

Question Number : 850 Question Id : 226895681891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



18 T8 U H AR & ad, 518 B & Secio o A H a8 OR ol 8, 3
2| fag e @ FofafEd 3 3 3uged we 9T

1. Y

2. 9747 (Peer)
3. ¥pI3cH
4. TR

& wu ¥ Yefifa fear s

Options :

2268952643714. 1
2268952643715. 2
2268952643716. 3
2268952643717. 4

Question Number : 851 Question Id : 226895681892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which among the following is an example of a multimedia campaign?

1. Project Village Chhatera
2. Red Ribbon Express

3. SARI

4. SEWA

Options :

2268952643718. 1
2268952643719. 2
2268952643720. 3
2268952643721. 4

Question Number : 851 Question Id : 226895681892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafad o 9 oF w1 gHiEar H#fias &1 3asi 87

1. Uiiae faas Taw
2. %8 e wemng

3. THT.3R.3MTS (SARI)
4. 9aT (SEWA)

Options :

2268952643718. 1
2268952643719.2
2268952643720. 3
2268952643721. 4

Question Number : 852 Question Id : 226895681893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the steps involved in providing special education to teach children with SEN in the correct order of their
implementation.

(A) Develop Individualized Education Programme (IEP)

(B) Continuous access and use of support services

(C) Assessment of the child's level in different areas of development & learning
(D) Regular evaluation of IEP to check the child's progress

Choose the correct answer from the options given below:

Options :

2268952643722. 1
2268952643723 2
2268952643724. 3
2268952643725. 4

Question Number : 852 Question Id : 226895681893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

T3 .UA(SEN) ATl S=ai ol Ugl o forg fasiy fRiaf Uar o= # 2iHe IRl &l §el Srai-ag & ¥ H ogdieyd difod
(&) SfaTd fien s H (ep) faaid S

(B) T Tarat! @ AR Ugd 9k Sudan]

(¢) famrg ok die= & ol &t & o= & W) @1 odma

(D) S B W B &g e & (a8 15341 (1EP) ST it geai

4 feu e fadedl  § wet 3 9

1. (A), (B), (C),
2. (A), (Q), (B),
3.(C), (A), (D),
4.(Q), (B), (D),

D)
@)
B)
(A)

Options :

2268952643722. 1
2268952643723.2
2268952643724. 3
2268952643725. 4

Question Number : 853 Question Id : 226895681894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are characteristic features of Internal Communication in a corporate organization?
{A) Interaction between employer and employee of same organisation

(B) Interaction between two employees of same department and same organisation

(C) Interaction among several employees of same organization but different departments

(D) Interaction between employees of different organizations

Choose the correct answer from the options given below:

1. (A),
2. (A),
3.(B).
4. (A),

B) and (D) only
C) and (D) only
C) and (D) only
B) and (C) only

Options :

2268952643726. 1
2268952643727. 2
2268952643728. 3
2268952643729. 4

Question Number : 853 Question Id : 226895681894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

fFrarfed e | effaie Suw & Fafiiad 3 8 S 9 faRva &7
(A) U@ &1 W13 o Fgiadl SR SHaR & aid diqaid

(B) TS & fa4FT 3R U &1 U716+ & &l HHAIRG] & ad iadid

(C) U & 15 & fopg SIeiT-S1erT U & &g SNl & &g aradid
(D) fafia T+t & wHaial & &g aedid

i faw o fasedl 7 § wEt IW I

Options :

2268952643726. 1
2268952643727.2
2268952643728. 3
2268952643729. 4

Question Number : 854 Question Id : 226895681895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which among the following is an example of Broadcast Media?

1. Television program

2. Government mobile service provider
3. Fashion magazine

4. Internet

Options :

2268952643730. 1
2268952643731. 2
2268952643732. 3
2268952643733. 4



Question Number : 854 Question Id : 226895681895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fofafad ¥ ¥ o o vuRy Hifsa &1 3aev o7

1. Zoifae sEHe
2. WHR! HiEEd 9al Uard]
3. e i@

4.3

Options :

2268952643730. 1
2268952643731. 2
2268952643732. 3
2268952643733. 4

Question Number : 855 Question Id : 226895681896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Who among the following is responsible for planning, organising and controlling the kitchen operations?

1. Kitchen Steward
2. Chef-de-parties
3. Deputy Chef

4. Chef-de-cuisine

Options :

2268952643734. 1
2268952643735. 2
2268952643736. 3
2268952643737. 4

Question Number : 855 Question Id : 226895681896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FrafaRad H § B1F 341 & Y= @ 3o &9, sgaieyd S ok FafEd s & e Iovend 82

1. g =ars (steward)
2. AG-S-ufe

3. feri
e e

Options :

2268952643734. 1
2268952643735.2
2268952643736. 3
2268952643737. 4

Question Number : 856 Question Id : 226895681897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The science of relationship between man, machinery and equipment that human beings use and the work environment
is known as

1. Agronomics

2. Economics

3. Ergonomics

4. Mechanical Science

Options :



2268952643738. 1
2268952643739.2
2268952643740. 3
2268952643741. 4

Question Number : 856 Question Id : 226895681897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TS, TR SR A g1 SUART 5T W aTel SUaRUl SR BT aIdaRvl & §id YaH! & O Bl S ETH
iR I

1. TR
2. HEd

3. A (G@a®)
4. 7t fag=

Options :

2268952643738. 1
2268952643739. 2
2268952643740. 3
2268952643741. 4

Question Number : 857 Question Id : 226895681898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the steps involved in Media Planning and Designing Production Process in correct sequence:
{A) Media Buying

(B) Designing strategies for selection of suitable media, channel

(C) Media Audience

(D) Media designing, development of communication model and material

(E) Writing Media Schedule or Blue Print

Choose the correct answer from the options given below:

Options :

2268952643742. 1
2268952643743.2
2268952643744. 3
2268952643745. 4

Question Number : 857 Question Id : 226895681898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



TOR 9199 GieFT 3R Ide Uil & S0 99R &4 § wfid il &f 98] wF § dafyd Sifed
(A) TOR 919 DI R
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(C) TR Trend i
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1. )
2 )
3. (D), (O)
4, (D), (A)

Options :

2268952643742, 1
2268952643743.2
2268952643744. 3
2268952643745. 4

Question Number : 858 Question Id : 226895681899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which 'Philosopher’ practised seven principles including ‘Tell the truth’, Manage for tomorrow' of Public Relations
management?

1. Jean Piaget

2. Lev Viygotsky
3. Arthur W. Page
4. Sigmund Freud

Options :

2268952643746. 1
2268952643747.2
2268952643748. 3
2268952643749. 4

Question Number : 858 Question Id : 226895681899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

oy SRS - S Eud HetE & 91 [Sidl &1 SFuieH b, e 9 SagT, o a1 &d & [0 U6 $iug oy
sal o1 2N fed g2

1. 5t foams

2. T At
3. 3 Sy, U
4, Ry higs

Options :

2268952643746. 1
2268952643747. 2
2268952643748. 3
2268952643749. 4

Question Number : 859 Question Id : 226895681900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11

List-1 List-Ii
SDG Number Name of SDG
(A)SDG 3 (I) Reduce inequality within as well as as among countries
(B) SDG 5 (I} Ensure sustainable consumption and production patterns
(C) SDG 10 (I} Ensure healthy lives and promote well-being for all at all ages
(D) SDG 12 (IV) Achieve gender equality and empower all women and girls

Choose the correct answer from the options given below:

1.(A) - (), (B) - (1), (C) - (I, (D) - (V)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (V)
3. (A) - (1, (B) - (V). (C) - (. (D) - (1)
4. (A) - (1), (B) - (V). (©) - (), (D) - (1)

Options :

2268952643750. 1
2268952643751. 2
2268952643752.3
2268952643753. 4

Question Number : 859 Question Id : 226895681900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT -1 D Gy Fe Difod

-1 -1l

Tod e A TEn  [TasSel $1 9

(A) THSTSI-3 (1) &= & 1R IR Ty € Y S0 & S T $f 5H BT

(B) THSISII-5 (1) TE-1T0 JUHFT R IO Uiaed &) Had &

(C) TFSI-10 (1) STy Sifa GHAfEa & SR 9l 39 & il & (o7 o) & Sgrar or
(D) THSISH-12 (V) TR TE T U &3 o) gufi it 3R asfedl &f geed a9

T feu e faweal & ¥ wdt s A

1. (A)-(0, (B)-(1, (O-(1n), (D)-(V)
2. (A)-(1), (B)-(1n. (Q)-(11), (D)-(1V)
3. (A)-(1m), (B)-(1V), (C)-(1n), (D)-(0
4. (A)-(In, (B)-(V), (C)-(1). (D)-(ID)

Options :

2268952643750. 1
2268952643751. 2
2268952643752.3
2268952643753. 4

Question Number : 860 Question Id : 226895681901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Tucks in a yoke and knife pleats in a skirt create which of the following form of rhythm effect in a dress?

1. Repetition
2. Cordation
3. Parallelism
4. Radiation

Options :



2268952643754. 1
2268952643755.2
2268952643756. 3
2268952643757. 4

Question Number : 860 Question Id : 226895681901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TP 9% H JAC 2Ual e H YNGR gac Uo UIE H sfafddl T4 & e wuf & ¥ oF 9 9 87

1. gRE
2. ®ISTH
3. A
4, fafeor

Options :

2268952643754. 1
2268952643755. 2
2268952643756. 3
2268952643757. 4

Sub-Section Number : 2
Sub-Section Id : 22689528065
Question Shuffling Allowed : No

Question Id : 226895681902 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (861 to 865)

Read the following passage and answer the questions that follows:

The government is making considerable efforts to solve the nutritional problems. POSHAN Abhiyaan was launched in
Jhunjhunu, Rajasthan in March 2018. Its large component involves gradual scaling-up of interventions to all districts in the
country by 2022. It targets stunting, under-nutrition, anaemia (among young children, women and adolescent girls) and low
birth rate. The Ministry of Women and Child Development (MWCD) is implementing POSHAN Abhiyaan in 315 districts in the
first year, 235 districts in the second year and remaining districts will be covered in the third year. Through robust multi-
ministerial convergence mechanism and other components POSHAN Abhiyaan strives to create the synergy.

Sub questions

Question Number : 861 Question Id : 226895681903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
The POSHAN Abhiyan is being implemented by which Ministry?

1. Ministry of AYUSH

2. Ministry of Women and Child Development (MWCD)
3. Ministry of Health and Family Welfare (MoHFW)

4. Ministry of Food Processing Industries

Options :

2268952643758. 1
2268952643759. 2
2268952643760. 3
2268952643761. 4

Question Number : 862 Question Id : 226895681904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Integrated Child Development Services covers vulnerable children in the age group of ___ years?

1.0-6
2.3:6
3.0-3
4.2-7

Options :

2268952643762 1
2268952643763. 2
2268952643764 3
2268952643765. 4

Question Number : 863 Question Id : 226895681905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the full-form of POSHAN?

1. PM’s Overarching Service for Holistic Nutrition

2. PM's Overarching Scheme for Holistic Nourishment
3. PM’s Old Scheme for Healthy Nutrition

4. PM’s Overarching Scheme for Holistic Nutrition

Options :

2268952643766. 1
2268952643767. 2
2268952643768. 3
2268952643769. 4

Question Number : 864 Question Id : 226895681906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT a direct short term intervention under the POSHAN Abhiyan?

1. Fortification of essential foods (salt fortified with iodine)

2. Production and popularisation of low cost nutritious foods from indigenous and locally available raw material
3. Ensuring food security i.e., improving availability of food

4. Control of micronutrient deficiencies among vulnerable groups

Options :

2268952643770. 1
2268952643771.2
2268952643772. 3
2268952643773. 4

Question Number : 865 Question Id : 226895681907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The POSHAN Abhiyaan was first launched in which state?

1. Gujarat
2. Rajasthan
3. Haryana
4. Punjab

Options :

2268952643774. 1
2268952643775. 2
2268952643776. 3
2268952643777 4



Question Id : 226895681902 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (861 to 865)
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Sub questions

Question Number : 861 Question Id : 226895681903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

giuuy St food Hareg gR1 ar fear o1 a1 62

1. Y AT

2. Afga 3R 91d faer Harey (@ 3=, 41.3)

3. W 3R IRAR &Il AT (U0, 31 04,00 S&9)
4, T TERHI0T I T

Options :

2268952643758. 1
2268952643759.2
2268952643760. 3
2268952643761. 4

Question Number : 862 Question Id : 226895681904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

THIpd ard [aPr Jarg a8 & MY T & HHR S] Bl AT Bl 8

1.0-6
2.3:6
3.0-3
4.2-7

Options :

2268952643762. 1
2268952643763. 2
2268952643764. 3
2268952643765. 4

Question Number : 863 Question Id : 226895681905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

G907 (POSHAN) 1 0f &0 &1 57

1. W5 MR SiaRai aife Bk SRS e
2. WIEH iR SheRaiRi whiE PR aife® R
3. 75 R Jiies @i BR 3l ZaH

4. WIEH FFEeR SRl i BR efies Tae

Options :

2268952643766. 1
2268952643767. 2
2268952643768. 3
2268952643769. 4



Question Number : 864 Question Id : 226895681906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Fafiad & § S-91 U i & 3T Ude Scidics gea el 82

1. SHARTS W US| B HaH (SIS U 955 T95)

2. Wl R VI Y ¥ U Sw A1d 3 ©H aFd aid Uibd are UEr & 3dme AR Al
3. WIe GR&N YR S Sufd @ uerdl & Suded J GUR &A1

4. HGR YHgl & 419 Y& U dadl Bl Al Bl a0

Options :

2268952643770. 1
2268952643771. 2
2268952643772. 3
2268952643773. 4

Question Number : 865 Question Id : 226895681907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Ty ST Usd! §R foby ey H R T 71 U

1. TeRId
2. ST
3. i
4. Uolg

Options :

2268952643774. 1
2268952643775.2
2268952643776. 3
2268952643777 4

Sub-Section Number : 3
Sub-Section Id : 22689528066
Question Shuffling Allowed : No

Question Id : 226895681908 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (866 to 870)

Read the following passage and answer the questions that follows:

In the counselling process, the professional counsellor may use different techniques. In directive or counsellor-centred
counselling, the counsellor plays a major role and does all that is possible to get the counsellee to make decisions in keeping
with the diagnosis of the problem. In non-directive or permissive or client-centred counselling, the counsellor's role is
comparatively passive. The counsellee takes an active part in the process of therapy. The person seeking help is encouraged to
gain insight into the problem with the help of the counsellor. The counsellee takes the final decisions. Thus, this counselling
process turns out to be a growth experience for the person. In eclectic counselling, counsellors who advocate using this type of
counselling are of the view that directed or non-directed counselling are two ends of continuum. And counsellors should
incorporate suitable techniques from both the types of counselling mentioned above as and when required, depending on the
situation, the problem and the temperament of the client.

Sub questions
Question Number : 866 Question Id : 226895681909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question

Mandatory : No
Correct Marks : 5 Wrong Marks : 1



In which type of professional counselling, counsellors plays the major role?

1. Eclectic counselling

2. Directive counselling

3. Permissive counselling

4. Non-directive counselling

Options :

2268952643778. 1
2268952643779. 2
2268952643780. 3
2268952643781. 4

Question Number : 867 Question Id : 226895681910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

In which type of counselling technique, the counsellee takes the final decision?

1. Permissive counselling
2. Informal counselling
3. Directive counselling
4. Eclectic counselling

Options :

2268952643782. 1
2268952643783. 2
2268952643784. 3
2268952643785 4

Question Number : 868 Question Id : 226895681911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

In type of counselling, the person seeking help is encouraged to gain insight into the problem. Fill in the
blank with the appropriate option.

1. Non-specialist

2. Eclectic

3. Non-directive

4. Counsellor-centred

Options :

2268952643786. 1
2268952643787. 2
2268952643788. 3
2268952643789. 4

Question Number : 869 Question Id : 226895681912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which type of counselling recommends the use of different counselling methods based on the situation, the problem
and the temperament of the client?

1. Counsellor-centred counselling
2. Client-centred counselling

3. Eclectic counselling

4. Informal counselling

Options :

2268952643790. 1
2268952643791. 2
2268952643792. 3



2268952643793. 4

Question Number : 870 Question Id : 226895681913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In which technique of counselling, the counsellors are of the view that directed or non-directed counseling are two
ends of continuum?

1. Permissive counselling

2. Non-directive counselling
3. Directive counselling

4. Eclectic counselling

Options :

2268952643794 1
2268952643795. 2
2268952643796. 3
2268952643797. 4

Question Id : 226895681908 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (866 to 870)
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Sub questions

Question Number : 866 Question Id : 226895681909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

4 UPR & AaIi® GHE 4al H, WEer 7E YT 82

1. SHATES THE
2. Fefard sl gar
3. AP R a1
4. ffefEa wemE dar

Options :

2268952643778. 1
2268952643779.2
2268952643780. 3
2268952643781. 4

Question Number : 867 Question Id : 226895681910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

59 ISR & el 9l 5, TUEe o arar sfed sifad g o g

1. AP R a1

2. ARG Rl gar
3. Frefim el @1

4. YH TS Y g4l



Options :

2268952643782. 1
2268952643783. 2
2268952643784. 3
2268952643785 4

Question Number : 868 Question Id : 226895681911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

R TG B UBR..c.ocen ¥, g1 AR arcl s o1 U] & o SR S GHSH o [ Hieiied [l ofdl o | fad
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1. R-fa=iwg

2. GhaTE®

3. ffefa
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Options :

2268952643786. 1
2268952643787. 2
2268952643788. 3
2268952643789. 4

Question Number : 869 Question Id : 226895681912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. ARG iad TR
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Options :

2268952643790. 1
2268952643791.2
2268952643792. 3
2268952643793 4

Question Number : 8§70 Question Id : 226895681913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

R a1 B f5d ad-ie §, WRIEH &1 faaR § [ FERa ar siHg R sl 9aq @1 & o RR 8 82

1. AP R a1
2. el momE dar
3. Frefe wuaef ¥a1

4, GHaTES THY 4dl

Options :

2268952643794. 1
2268952643795. 2
2268952643796. 3
2268952643797. 4



